Further Maths GCSE
Other Topics Questions
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Simplify
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Solve the simultaneous equations
x-=1_ X+6
y-2 y=1
Do not use trial and improvement.
You must show your working.
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Write this ratio in its simplest form

V12 : V48 : V300
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=8 where x>0 and y2:24—5wherey>0
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Work out the value of ™.
y
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Solve V(B3+\x)=6
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Solve y(V/3-1)=8

Give your answer in the form a+bV3 where « and b are integers.
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Solve X

Write your answer as a proper fraction.
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The value of x is 50% more than the value of 7.
The value of y is 10% less than the value of w.

X=y
t
Work out —
w

Give your answer as a decimal.




image16.png
A sphere has radius x centimetres.
A hemisphere has radius y centimetres.
The shapes have equal volumes.

Work out the value of i—/

1
Give your answer in the form a3 where « is an integer.
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Work out 2g —19 +11
3 4 8

Give your answer as a fraction in its simplest form.
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The points A(-1, —7) and B (24, 23) are on a straight line ACB.
AC:CB=2:3

Work out the coordinates of C.
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Explain why the equation x2+3x+4=0 has no real solutions.
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Solve the simultaneous equations

x+y=4
y2:4x+5

Do not use trial and improvement.
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Factorise fully (x+1)2 + (x+y)(2x+5y)
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Factorise fully (w+4)°—(w+4)2w+1)




